Panasonic ideas for life

Partners Contact Corporate International Live Chai Log Ir

Home Components Automation Controls " Lighting & GPS Downloads Where to Buy Media & News Support Search...

Panasonic Automation Controls Products Industrial Sensors Photoelectric Sensors

Photoelectric Sensors: EX-10 Dimensions

Automation Control Products unnwnmﬁns_j E TRIAL UNIT | lzi CATALOG POF u SUPPORT

PLC Controls

HMI Panels [ Overview ” Part Numbers ” Specifications ‘I Dimensions-l

Area Sensors

Industrial S . . . .
ndustrial Sensors Dimensions/model drawings for this product appear below. } ?Lq

Color Mark Sensors Units are usually notated in millimeters (mm) and in inches (in)orinches (in) (if provided).

Fiber Optic Sensors

Downl EX10 pr log in PDE format for more in h part number information
Laser Sensors

Measurement Sensors

Optical Touch Switches

Photoelectric Sensors EX-11A? EX-11B? EX-13A? EX-13B? EX-19A? EX-19B?

CX-400 Version 2

CcY Sensor
EX-10
EX-20 3.5
1 [To3s oha | JE
a 2.1 =
B30 0.083 ] |55
EQ-500 0.217
M 1.75 0 068 —=
1.750.069
PM2
A L N
EX-F60/70 —I: f o Q) |
by i
. 145 1
EX-F1 e A (?
VF I —
T |
NX5 45 \/ Baam-
0ATT 1 | amitting
RT-610 i 7 | part
2.2 2 20087 /=~ 65
EQ30 mounting holes /0.
I
EZ-10 825 00,034 cable, 2 m 6562 fllong
Pressure/Flow Sensors
Emitter

Proximity Sensors
Safety Light Curtains

Semiconductor Sensors

Sensor Controllers q Stability
2 indica a5
Special Usage Sensors : e [Gleeg = "_;.::HH
Static lonizers - Operation ', 7 =~ §nas
o indicator %,
Video Borescopes b
5 1.5 '\.\
e
Laser Markers 0.068 0.056 4
—
Servos & Drives [
. i 1
UV Curing Systems ; i 0.433 Sj{r;
Machine Vision/ID Products l d |
Y 4.5
. ! T
Timers ———F g i
b
6.5 =\ 2923 a0087
Bfl q & Y £ 3L
Limit Switches _:-"-25'3 %, mounting holes
4 o] DR £ B2 ft
Temperature Controllers NE SRR e, 2 TR LNY
Counters Receiver
Hour Meters
Power Meters ~Backloton.

EX-11EA? EX-11EB? EX-13EA? EX-13EB?

Sensor

[0 304 —= -]
1.75 0.069 —=
1.75 0 064 ’k
F
I T [© Bear
U3 i
145 11§ T Gmr't'""g
D571 0433 AT
45
0.177 -
[} [
2-92.2 20.087 /= 85
mounting hales/ 7255 A
i’ ==
@25 20,098 cable, 2 m B 562 ft long 0.165
Emitter
Stability
indicator (Green) 10
T
Operation it ™ 0.3847
indicator (Red) ' —» 6.45
! L 0,254
‘\.\ ’1;?’5 l-—
.\_\ 0,089 175 15
\ 0088 0.059
kY | | ‘
[, ¥
....... | i
Eean ji] f’? T ]
il LU ]
rocoitd N 11 4
pa 0.433 0571
gt |
—
45
\ 0177
5 i
6.5 = 2.92.2 30087
PE56 Y mounting holes

\‘-\ g2.5 @098 cable, 2 m 6552 fl long

Receiver

A Back to top

EX-15 EX-17(W)

Sensor

Emitter 10 Receiver Stability indicator (Green)
) 304 = /Incident beam indicator (Red)

55
0.217 10 0,384
6.45 [J.Zhdﬁ"

L]
o=
e
w
115
gy

i
a
q
o
o,

]
-
o
", -
-y

=
i
]
%)

=}

| =
\..1m

= X1
=
&
oo

.

£
w| S .
e Ly =
o

R

|
My |

4.5 !

0177 f
2-@2 2 a0.087 [
mounting holes

rm.‘ 92.5 00.058 cables

Operation indicator

0.756
) nge . 1% 5
e
| 4 \x Operation mode switch

23.8 o0.150 cable,
~. 2 m B.562 fi long

-

14,5 Baam- B
0.571 0.433 emitling receiving

| 2-92.2 00087
| meunting holes 375

10039 .
-
0276

~h
b

==
£n

A Back to top

EX-15E EX-17E

Sensor

Emitter 40 _ subilly indicator (Green) g0 Receiver

175, %3 Jncident beam indicator (Red)’, .33
0.068 -

175, == 3.'15??
0089 157 +| ’:2-25
r ) 0.089

1

145 11
08710433

i
4.5 |
0.177 [ 4.7

2-@2.2 a0 087 | 0.165

mounting holes/

L

Y
"\ 2-82.2 00 087
500 ', mounting holas

@25 al 098 cables
oot b bt

Opearation indicator
(Orange)

-1 0038
-

- 7

0.276

A Back to top

EX-14A? EX-14B?

Sensor

"0sIZT]  T
| 845 . Stability indicator
0.254 275 " (Green) 35

s . Operation 0.138

5= —0.10
0,187 1. e
-~ 0069 indicator (Red)
.-"”/ \
o 1.78 1.5
A 0.069 0.059
=T | l‘

LET, 1

pean- I -@ X 11 145
::1&““9/0 ¥ 0433 0571
/,$@ L

Beam-amittin rt 45
0177

-
LY
h

8l *

! (315 *, 2-2.2 20.087 mounting holes

% @2.5 20098 cable,
\ 2 m 6.562 1l lang

EEEETT
¥

o

(=

—

&

-

2 Back to top

MS-EX10-1
Sensor mounting bracket (Optional)

:
o

A 7
047 “ 0.2
I

|

ar
0,146
20
0.787
4-M2 % 0.4 0016 65,.. 8 .35
thru-hole threads | | 926 | 0315 [I1% 0
2-@3.4 20134 mounting holas
i
. i
) ]
3
¥ 3?5.;15;
0433 315 0,591
|t

Material:
Cold rolled carbon steel (SPCC) (Uni -chrome plated)
Two M2 (length 4 mm 0.157 in) pan head screws are attached.

Assembly dimensions
Mounting drawing with EX-14?

t1.2 20 0.TBT—+ (0.7}
10.047 =T 5|0.028)
0.299 L)

I h
-— '
a7 as 4.9}
0146 0138 {(0.193)

{3018 § 1*1 15
5 0.215 0,433 0.5%

4250167
| 1

| | 2-3.4 a0.134 mounting holes

2 Back to top

MS-EX10-2

Sensor mounting bracket (Optional)

112
t 0.047 u?z'g -
L I
6.25
0246
i T
20
o 0.78T =
32 . 14
0.126 ‘ 0.055
1 '@' |y} ) i
1 : f & 15
0433 0315 0591
@_—t
/ ¥ e L
2M2=04 0016 /
thru-hole threads 8 a5
0.31 == 0138

Material:
Cold rolled carbon steel (SPCC) (Uni -chrome plated)
Two M2 (length 8 mm 0.315 in) pan head screws are attached.

Assembly dimensions

Mounting drawing with EX-11E? and EX -13E?

2.3
- 7B L [509%3
1

415' | ! Ty ‘
625 % ' (7.45)
M T | L [ (0.293)
13 ' !
[:.:’5%1 32
o pnE D 0128 1,28
15T 0.010 | 0.254 | 0.049
3 1.
I ! l[f'.[f'hh
] T v Ji— )| £33 !
Beam- 2.5 0.008 Rl
15 11 receiving = | ;
DEB 0433 0.315

20
0.7er

2 Back to top

MS-EX10-3

Sensor mounting bracket (Optional)

Y
7027 4 10,
[ GD_ 0.413
. Iy
1.4 L_ 3
0.055™ | ¢ 0.128
112 o 4M2 = 040016
10,047 thru-hole threads
R} : v
L (E
425 0,256
S o | @
¥
e 11 3

0433

TG

Material:
Cold rolled carbon steel (SPCC) (Uni -chrome plated)
Two M2 (length 4 mm 0.157 in) pan head screws and two M2 (length 8 mm 0.315 in) pan head screws are attached.

Assembly dimensions

Mounting drawing with EX-14?

2.75 10.8 11.2
[tl;.ma}r" 04257 [T 10.047
(0.7)
[0.028) |
PR [
T 35 _
—_— 0.138
Beam- 13 11750060 Beam-
receiving part [* 0512 = /MQ_&"
oy 5,650 1.25
\| loter 0246 40,049
’.-.':: d i
i T T
ég 130118
F 1. 1 15
; 0438 0,59
425
0167
i
2 Back to top
MS-EX10-11

Sensor mounting bracket (Optional)

t1.2 81
10,047 0319
'
6.25
0.246
f
20
0.787
0.78 14 -
L055]  4og

Ol es

11 | 1 s

0.433 0315 0,591

AN 2=
2.M2 % 0.4 01016

thru-hole threads - 0055
3.2
= | MT0.126
& - 35
0315 0.138

Material: Stainless steel (SUS304)
Two M2 (length 4 mm 0.157 in) pan head screws [stainless steel (SUS304)] are attached.

Assembly dimensions

Mounting drawing with EX-14?

8.1 (2.3)
t1.2 ~0.319 {0.091)
10047 )
L
4.5 { T‘ i
05:'1245:". 0.977] i 253)
. L]
i T
{1.3)
(0.051)
el 025 . 10 14 405
0.010 0.384 0055 g 3ug 50
- ! 0126
| & gt
~ || Beam- 250088 | ¢ dl} i
15 1 {"11\ receiving LI e o ! nqsﬁ
15891 0.433 03
Ppant N e
il 7k =
y b= _i | — \'-I-f‘/ - *
32&[55:3 0167
- -
0.126
8 a5
0.315 0.138
- 20 -
0.787
2 Back to top
MS-EX10-12
Sensor mounting bracket (Optional)
t12 1
10.047 0318
t
6.25
0.246
f
0.78T
LT .
0008  oi2e
|

e
1 4 1

0.433 o 0,315 0,591
A 1|
2-M2 x 0.4 0.015

thru-hole threads // ,:,'3'25
3.2
= | MT0.126
& . 35
0315 0138

Material:
Stainless steel (SUS304)
Two M2 (length 8 mm 0.315 in) pan head screws [stainless steel (SUS304)] are attached.

Assembly dimensions

Mounting drawing with EX-11E? and EX -13E?

8.1 (2.3)

Rl IE (0:061)
R n.Jm"I B
|
Fom—— ) ) i
625 %o (7.45)
0248 20T (0.293)
. L]
i L]
{1.3)
0.057)
4
st 025 . 10 __ . 14 4.5
D00 0.394 :'nﬁ!:[:mg 3.2
— t 01285
i y N e s —
I ¥
|| Beam- 250088 | C:} i
A5 11 T receiving I e e (o e f nq815
0591 0,433 I s } 0.3
ﬁ\‘mL T ':f:—_'—i
i =i W/—f }
14 4.25
0.055 a1e7
—= ]
0.126
8 as
0315 0,138
- 2{. R
0.787
2 Back to top
MS-EX10-13
Sensor mounting bracket (Optional)
| t
1{ITE } z
' 0276
0413 3201286 {m}| éa;—;
J‘ ¥ | =)
P 1 L1_4 0.055
0055 T =g~ r3.2 0126
0.315
15
112 0.591 4-M2 = 0.4 0016
10047 thru-hole threads
H i) ] -
T I -
e F T
10.8 2 Iy
: | 6.5 0.256
0.425
: ' © | o—*
' I
L_ " 2
0.433 0.0v9

Material:

Stainless steel (SUS304)

Two M2 (length 4 mm 0.157 in) pan head screws [stainless steel (SUS304)] and two M2 (length 8 mm 0.315 in) pan head screws
[stainless steel (SUS304)] are attached.

Assembly dimensions
Mounting drawing with EX-14?

2.75
lf[g. 1 DEE_’

(0.7}

{0028)
-

s . 1.T85
0.512 0.069
5 ,625]|,
0187 0 245
Beam-emitting - - 1
part =N I I
et ey [y T
ey 3018y 45 5 fa
Beam-receiving —{ =+ H—t oa35 050 T B ; 0315
part ; E &
L i 1 fuism 'FI : € 1
=== S Y L
d’ 4.25 1.4
0187 D055
T
| | . Lz
0.126
2 Back to top
Home Components Automation Controls Lighting & GPS Downloads Where to Buy Media & News Support Partners Corporate Privacy

Follow Panasonic Electric Works: ¥ % m
Eusittar

Copyright © 2011 Panasonic Electric Works Corporation of America, All Rights Reserved.
Phone: 1.908.464.3550 Fax: 1.908.464.4128


http://pewa.panasonic.com/
http://pewa.panasonic.com/
http://pewa.panasonic.com/components/
http://pewa.panasonic.com/automation-controls/
http://pewa.panasonic.com/lighting/
http://pewa.panasonic.com/downloads/
http://pewa.panasonic.com/sales/
http://pewa.panasonic.com/media/
http://pewa.panasonic.com/support/
http://pewa.panasonic.com/support/contact/?product=EX-10&div=automationControls
http://pewa.panasonic.com/assets/acsd/sunx/sensors/catalog/ex-10-catalog.pdf
http://pewa.panasonic.com/support/request-trials/?product=EX-10
http://pewa.panasonic.com/downloads/ex-10/
http://pewa.panasonic.com/automation-controls/sensors/photoelectric-sensors/ex-10/
http://pewa.panasonic.com/automation-controls/sensors/photoelectric-sensors/ex-10/part-numbers/
http://pewa.panasonic.com/automation-controls/sensors/photoelectric-sensors/ex-10/specifications/
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht!http://pewa.panasonic.com/automation-controls/sensors/photoelectric-sensors/ex-10/dimensions/
http://pewa.panasonic.com/assets/acsd/sunx/sensors/catalog/ex-10-catalog.pdf
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht#top
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht#top
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht#top
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht#top
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht#top
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht#top
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht#top
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht#top
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht#top
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht#top
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht#top
http://pewa.panasonic.com/automation-controls/products/
http://pewa.panasonic.com/automation-controls/plc/
http://pewa.panasonic.com/automation-controls/hmi/
http://pewa.panasonic.com/automation-controls/sensors/
http://pewa.panasonic.com/automation-controls/laser-markers/
http://pewa.panasonic.com/automation-controls/servos-and-drives/
http://pewa.panasonic.com/automation-controls/uv-curing-systems/
http://pewa.panasonic.com/automation-controls/machine-vision/
http://pewa.panasonic.com/automation-controls/timers/
http://pewa.panasonic.com/automation-controls/limit-switches/
http://pewa.panasonic.com/automation-controls/temperature-controllers/
http://pewa.panasonic.com/automation-controls/counters/
http://pewa.panasonic.com/automation-controls/hour-meters/
http://pewa.panasonic.com/automation-controls/power-meters/
http://pewa.panasonic.com/automation-controls/products/three-year-warranty/
http://pewa.panasonic.com/
http://pewa.panasonic.com/automation-controls/
http://pewa.panasonic.com/automation-controls/products/
http://pewa.panasonic.com/automation-controls/sensors/
http://pewa.panasonic.com/automation-controls/sensors/photoelectric-sensors/
http://pewa.panasonic.com/automation-controls/sensors/photoelectric-sensors/ex-10/
http://pewa.panasonic.com/
http://pewa.panasonic.com/components/
http://pewa.panasonic.com/automation-controls/
http://pewa.panasonic.com/lighting/
http://pewa.panasonic.com/downloads/
http://pewa.panasonic.com/sales/
http://pewa.panasonic.com/media/
http://pewa.panasonic.com/support/
http://pewa.panasonic.com/partners/
http://pewa.panasonic.com/corporate/
http://pewa.panasonic.com/corporate/privacy/
http://twitter.com/PanasonicElec
http://www.youtube.com/PanasonicElec
http://www.linkedin.com/companies/panasonic-electric-works-corp-of-america
http://pewa.panasonic.com/partners/
http://pewa.panasonic.com/support/
http://pewa.panasonic.com/corporate/
http://panasonic-electric-works.net/
mhtml:file://E:\Sourcing\MRW\Macros\mht_convert\New Folder\FET189.mht#
http://www3.aromat.com/

